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Even if one candidate is ranked 1ˢᵗ by a majority

the dictator may
choose someone elseto win

So the majority
winner may not actually

win

in a dictatorship

06 results

A wins

The PE voters hate this outcome They can change

to then it looks like

Cris

This is a preferable outcome for those
voters

so this is a manipulation

This is notthe same Random dictator chooses a

ballot at random which means a candidate with more

votes is more likely to be
chosen

That's different from just choosing the
winner

at random which would make all outcomes equally likely
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